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No books, watches, notes or cell phones are allowed. You must show all yo ir work, the corre is worth 1 mark the remaining marks are given for the work.
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Questlon 2 (5 marks) Prove: If a nonempty sul?s'et of a vector space V is closed under addition and scalar multiplication, under

the inherited operations then W is a vector space.

SI.WM W (.s c[ﬂéd uud«tv a,JJilliu;m a.,,d 460«/01./ m;/ét axw'w @“d‘@ ho(d
Smee W ss closed vndev scalay mn/éz- aud 3_y6 W The oV g W and

by thim 1] we hove shown thal ov=p. ,°% 0 € W. axizwnm @) holds
Smilavly ()VEW and by thim 1l we have chown ﬁhht ()Y 5 the

“’JA"b"}{'y (gt of Y | axiwen~ §) bolds. Also axism OJO;@O@
and hold . §inee ﬁh{,} bold for The gyﬂy‘rgct Vﬂd?}/ /st

ho(,A tor the set W

Question 3.(2 marks) R® has infinitely many subspaces. Do every non-trivial space have mﬁmtely many subspaces?
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Question 4. (2 marks) Is R? a subspace of R3?
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Question 5.(2 marks) If A is a subspace of a vector space V, is its complement A° = {# € V | Z ¢ A} a subspace of V'?
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